2 A

TN

27.02.2012  :733°1273 RN
SPOITINNAD LW 'DI1D daiisnlat lalv
Q°57A7 NN 0PN v
201.1.6081  :ompi 1oON

2 73 'R ovono 2012w
nyw 3 arnan qen

TV N

DPRWA S IR 4 P72 DY navo wo

Dppaw *Xina) P17 2 NN 70IN 992 mIvn ROV (QNIaw MKW 4 7 nn) 998w 92

("n\w7 1R" 2100 DRNAT

M AN R 092072 IRPY DINWAY WO TAORNNAT NNA0RA YOBNTY Tanen b by
DX QW21 7OPA7 W 197 ,7272 RDIWI NWAWA 13°727 N2 .02 XY NI1NA0AT
T7aRT 0DV DY IN2°9ND MDY 229NN DR AW IRTN L7217 0910 DY 7nonn No0n

.0°RN7 20772 7P DAY N2 I9RY 935 72wWN1

I 9N MLPRWT (1N TA0 w

(7125) 1 monw

v 72 V'c V ax12p nn nna»p 302x 10 G=(V,E) 713 0% oxn
DT RANT ORI TT 7' (GLV']) = AG[V']) axn V' >0.21VI

Hai=hi* 4]

il




2 moRw

BG)1a'(G) nXMTIG MMy (P15) X

TAT

0'(G) = B(G) *2 1217 2778179713 G o (21 20) .2

Haist=hhi




(7125) 3 anw
3 2 (PPN RPNT IR?) MNwR nyag w1 5 noavn a7 av G=(V,E) 773 %3 oxn
JPTAT RANT IR IR I 22U IR 23vn KYH avpan

71N

Hai=l3}

(71 25) 4 7o8w

NIX12P NNF PO DR NIRDDA 9Y 27 IN°1 ORI .Hayna 2217100 NIRDD 28 0°1In)
(P72 7NK XD DY WA 700 Ax12p nn 9o) {1,2,3,4,5,6,7,8} ax1apn Hw 2 1A
077 17770 2O7INY NIRDD I By 19RD MIXIAR CNw 9ow 3

Hai=hi* 4]

il




(7125) 5 anw
20NWP2 PWp-2 X3 G 7372 487 .Wp R 10 9% G o

71N

Hal=i=h

Lmbyra




